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MR 7)1 K4E e E KA
A4 Gicpll| |
45 68 8H 108 128 27
REERHE 2010/4/21 | 2010/6/2 | 2010/8/4 | 2010/10/6 | 2010/12/1 | 2011/2/2
REREFZ 11:55 10:50 12:15 10:40 10:30 10:35
EN Bh HBh HBh HREE Bh BEY
B (°c) 20.4 25.0 340 245 18.0 10.0
KB (°c) 17.6 20.6 26.8 21.9 174 9.0
KR (m) 1.90 20 3.2 0.60 20 1.6
iR BE BE BE BE BE BE
18 =R | KA | RE8A-% | ERE-% | ERE-E ] RE-B
2R TR TR TR TR TR TR
4 [eH 76 7.1 74 7.1 74 77
= |po (mg/1) 7.6 8.6 7.9 6.0 6.4 95
1® |BOD (mg/1) 1.0 1.0 1.7 1.0 14 13
% [ss (mg/1) 6 4 4 3 2 1
B [Xpaex (MPN/100mD) | 2.2E+04 2.3E+04 1.3E+05 3.3E+04 1.1E+04 7.9E+03
B 2FEH (mg/1) 0.008 <0.005 <0.005 <0.005 0.007 <0.005
HREY L (mg/1) <0.001 <0.001 - <0.001 <0.001 -
£SO (mg/1) <0.1 <0.1 - <0.1 <0.1 -
o) (mg/1) <0.005 <0.005 - <0.005 <0.005 -
AfiZ 0L (mg/1) <0.02 <0.02 - <0.02 <0.02 -
P (mg/1) <0.001 <0.001 - <0.001 <0.001 -
#7K 4R (mg/1) <0.0005 <0.0005 - <0.0005 <0.0005 -
7 ILEILKER (mg/1) - - - - - -
PCB (mg/1) <0.0005 <0.0005 - <0.0005 <0.0005 -
# |Cooorgy (mg/1) €0.002 €0.002 - €0.002 €0.002 -
miEbiRER (mg/1) <0.0002 <0.0002 - <0.0002 <0.0002 -
1,2-Y°H0014Y (mg/1) <0.0004 <0.0004 - <0.0004 <0.0004 -
B |1.1-vyerLy (mg/1) <0.002 <0.002 - <0.002 <0.002 -
YA-12-Y"9AAIFLY  (mg/l) <0.004 <0.004 - <0.004 <0.004 -
1,1,1-k)/00I4y (mg/1) <0.01 <0.01 - <0.01 <0.01 -
- 1,1,2-h)/0014Y (mg/1) <0.0006 <0.0006 - <0.0006 <0.0006 -
M)ORIFLY (mg/1) <0.003 <0.003 - <0.003 <0.003 -
Fh590AIFLY (mg/1) <0.001 <0.001 - <0.001 <0.001 -
1,3-" 9007’ AA"Y (mg/1) <0.0002 <0.0002 - <0.0002 <0.0002 -
8 |FY34 (mg/1) <0.0006 <0.0006 - <0.0006 <0.0006 -
IRy (mg/1) <0.0003 <0.0003 - <0.0003 <0.0003 -
FAN VLT (mg/1) <0.002 <0.002 - <0.002 <0.002 -
Ry (mg/1) <0.001 <0.001 - <0.001 <0.001 -
L (mg/1) <0.001 <0.001 - <0.001 <0.001 -
MEEERRUEMBEEER (ng/]) 0.49 0.29 - 0.65 0.43 -
P (mg/1) 0.1 <0.1 - 0.2 0.4 -
5% (mg/1) 0.5 0.1 - 0.8 1.9 -
14-OA XY (mg/1) <0.005 <0.005 - <0.005 <0.005 -
n-~t VB YE (mg/1) - - - - - -
2EXR (mg/1) 0.94 0.62 0.57 11 11 11
e (mg/1) 0.11 0.075 0.076 0.15 0.11 0.082
Ei) (mg/1) - - - - - -
BN (mg/1) - - - - - -
BB HY (mg/1) - - - - - -
Pi=FN (mg/1) - - - - - -
Za=1=L TN (mg/1) <0.001 <0.001 - <0.001 <0.001 -
RILLTILTER (mg/1) <0.008 <0.008 - <0.008 <0.008 -
T 5= (mg/1) <0.02 <0.02 - <0.02 <0.02 -
fﬂ)_r EPN (mg/1) - - - - - -
B &ty (mg/1) 1900 380 - 4000 9100 -
g |cob (mg/1) 3.9 15 3.7 3.1 1.6 2.2
TUOEZTHESR (mg/1) - - - - - -
THEAMEER (mg/1) 0.47 0.28 - 0.62 0.41 -
HIEEEMER (mg/1) 0.02 0.01 - 0.03 0.02 -
UBRTE) (mg/1) - - - - - -
BE () - - - - - -
K)NBAZUERREE  (mg/l) - - - - - -
2—MIB (mg/1) - - - - - -
CARIY (mg/1) - - - - - -
BERInEE (4 S/cm) 6600 1300 870 10000 22000 20000
& =




